12”0025 (K12n0025)

Linearized knot diagam

[

6 7 2 10 5 12 11 6 9 8

\\ Solving Sequence

6104’ 4)2114) g - - —> - —> Ca,C7,C
Aknotdiagrarrﬂ 7 o 5 44 3—1-—>9—>12—>8—>>C2,07,C12

‘1\

€3 €1 Cg C11 C8
Ideals for irreducible component#ﬂ)f Xpar
I = (u' + 20 + 202 + 3u” + 6uS + 6u® — 2u* — 3u® — 3u® + 20,
utt + 200 + 0 — 208 + 47 4+ 6uC + 3u® — 8ut — 9u® — u? 4 2a + 3u+ 1,

u® 4 3u'? + 50t 4 400 + 60 + 11u® + 170" 4 1208 + 60 +u? Fu+1)
I = (uPa + 2u®a +u® — au+ 2u? +8b — 3a —u — 3, —u?a —u® +a® + au + 3u® — 3u+ 2, ut —ud +u® 4+ 1)

* 2 irreducible components of dim¢ = 0, with total 21 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I.
I = (u'+2u'®+. - - —3u?42b, u't+2u'%4- - -42a+1, u'?43u'?+4- . -4u+1)

(i) Arc colorings

0
a10 = \u
1
a7: _u2
_%ull u10+~-~—%u—%
ag = —%u” w10 4+ -+%u3+%u2
U
ailr = \u
1 n_%ugw %u5 %u_%B, 2
a5 = \qu +u’ +---+35u+5u
SO ST U
ay = u12+%u11+-~ +%u3+%u2
u12+%u11+ —%u—%
as = u12+%u11+ —I—%u:‘—&—%uz
—u? —3ud —u
a1 = \ —y9 — " —3u® —2u® —u
w3
ag = \u3+u
ud +u
a2 = \ud+ud +u
u’ + 2ud
ar = 7 5 2 3
8 u' +u’+2u” +u
(ii) Obstruction class = —1

(iii) Cusp Shapes

= %um + 11wt + 15010+ %ug + %us +35u” +50ub + 2—25u5 — %u‘l — 22—7u3 +3u’+ %u—l— %



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u —u? 4+ 3u—1
Ca,Cs uB +h5ul? 4+ —Bu—1
€3 u® — 5u? 4+ ... — 4501u — 833
C4,C7 ul® +ut? 40— 11520 — 256
Cg, C10 u® = 3u? +5uM — 400 +6u® — 11 + 170" — 1208 +6u® — WP +u—1
Cg,C9, C11 U13+U12+"'*U*1
C12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

1 Yyt 435y - — 129y — 1

C2,Cs Y-y 3y -1
c 13 12
3 y o447y 4 - — 4829293y — 693889

C4,C7 Y3 — 45y + ... — 212992y — 65536

€6, C10 YRy —y—1

Cg,C9, C11 y13+25y12+7y71
C12




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

u = —0.440311 + 0.7599391
a= 0.796729 + 0.6486721
b= —0.267976 + 0.2111501

0.01165 — 1.742851

0.51102 4 3.652731

u = —0.440311 — 0.7599391
a= 0.796729 — 0.6486721
b= -0.267976 — 0.2111501

0.01165 + 1.742851

0.51102 — 3.652731

u = —0.748468
a= 0.262818
b= 0.939012

1.70389

6.48230

u = —0.082679 + 0.7147511
a= 1.41033 — 2.092601
b= 0.247845 — 0.6885051

—1.32993 — 1.484071

—5.25082 + 4.839921

u = —0.082679 — 0.7147511
1.41033 + 2.092601
b= 0.247845 + 0.6885051

—1.32993 + 1.484071

—5.25082 — 4.839921

u=0.939578 4+ 0.9897921
a = —0.103034 — 0.7718381
b= —1.151440 — 0.1502551

8.78280 + 3.510471

4.53999 — 2.230041

w=0.939578 — 0.9897921
a = —0.103034 + 0.7718381
b= —1.151440 + 0.1502551

8.78280 — 3.510471

4.53999 + 2.230041

u=0.532801 4 0.3274531
= —1.35777 + 1.252781
b= 0.616504 + 0.9917081

0.55073 4 2.697241

3.82886 — 1.916791

uw=0.532801 — 0.3274531
a = —1.35777 — 1.252781
b= 0.616504 — 0.9917081

0.55073 — 2.697241

3.82886 + 1.916791

u = —0.99353 + 1.073841
a= 0.40970 + 1.865671
b= —1.14718 + 1.284711

—14.0646 — 8.39211

3.62108 + 3.787561




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

u = —0.99353 — 1.073841
a= 0.40970 — 1.865671

b= —1.14718 — 1.284711

—14.0646 + 8.39211

3.62108 — 3.787561

b

u = —1.08162 4 0.987981
a = —0.787365 — 0.5955301

= —1.26726 — 1.235641

—13.71940 4+ 0.789111

4.00870 4 0.190181

u = —1.08162 — 0.987981
a = —0.787365 + 0.595530/1
b =

—1.26726 + 1.235641

—13.71940 — 0.789111

4.00870 — 0.190181




II.
I¥ = (uda+ud+---—3a—3, —u?a—u*+a’+au+3u®—3u+2, u*—ud+u?+1)

(i) Arc colorings

0
aio = \u
1
a7: _u2
a
az = —%u?’a %u?’—&— ~+%a+%
Uu
a1 = \u
1,3 1,3 5 3
TR ST
as = —gua—gu + - —‘rgCl-g
1,3 1,3 5 3
glua—i—glu +-- +§§l—§5
a4 = —gu?’a—sug’—&—w +35a—3
—w?+a+u—1
az = —%u?’a éu3+-~+§a—%
-1
a1 = 0
u3
ag = \ud+u
—u? -1
a19 = u3_u2_1

(ii) Obstruction class =1

(iii) Cusp Shapes = —Ju’a + 2u?a + 3u® — 2au — 3u® — Ja+ Su+ 1



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C3,C5 (u? —u+1)*
€2 (u? +u+1)*
C4,C7 u®
C6 (uh = u® +u? 4 1)2
cg, Cy (u* — u® + 3u? —2u—i—1)2
c1o (u* +u® +u? +1)?
€11, C12 (u +u? 4+ 3u? + 2u +1)2




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3 (y2+y+1)4
Cs
ca, 7 y®
Cg, C10 (y4 +y3 +3y2 +2y+ 1)2
Cg, C9, C11 (y4 + 5y3 + 7y2 + 2y 4 1)2
C12




(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape
u = —0.351808 4 0.7203421
a= 1.04112 4 1.080951 —0.211005 4 0.6147781 2.20786 + 0.046551

b= 0.500000 + 0.8660251

u = —0.351808 + 0.7203421
—1.08443 — 2.308131 —0.21101 — 3.444991 | —2.55284 + 7.823411
0.500000 — 0.8660251

—0.351808 — 0.7203421
1.04112 — 1.080951 —0.211005 — 0.6147781 2.20786 — 0.046551
0.500000 — 0.8660251

—0.351808 — 0.7203421
—1.08443 + 2.308131 —0.21101 + 3.444991 | —2.55284 — 7.823411
0.500000 + 0.8660251

0.851808 + 0.9112921
0.076953 — 0.5829381 6.79074 4 1.134081 2.75261 — 0.959111
0.500000 — 0.8660251

0.851808 + 0.9112921
= —1.03364 + 1.224141 6.79074 4 5.193851 2.09237 — 4.440581
0.500000 + 0.8660251

= 0.851808 — 0.9112921
0.076953 + 0.5829381 6.79074 — 1.134081 2.75261 4 0.959111
0.500000 + 0.8660251

0.851808 — 0.9112927
—1.03364 — 1.224141 6.79074 — 5.193851 2.09237 + 4.440581
0.500000 — 0.8660251

b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
! (W —u+ D)W —u'? 4+ +3u—1)
C2 (W +u+ D" (' +5u'? 4 —5u—1)
@ (W —u+1)*)(u'® = 5u? + - — 4501u — 833)
4, C7 ub(u'® 4 u'? 4 - — 1152u — 256)
Cs (W —u+ D) (' +5u'? 4 —5u—1)
6 (ut — ud 4+ u? +1)?
S(u'? = 3ur? + 5utt — 400+ 6u® — 11u® + 170" — 120 + 6u® —u +u—1)
g, Cy (u —u® +3u® = 2u+ D)D) +u? 4+ —u—1)
c10 (u' +u® +u® + 1)
(' = 3ur? + 5utt — 400 + 6u® — 11u® + 170" — 120 + 6u® —u +u—1)
€11, C12 ((u* 4+ u® + 3u? +2u+ D)) +u? 4+ —u—1)

11



IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 (P +y+ D" +35y"2 + - =129y — 1)
C2, C5 (P +y+ D)D"~y -+ 3y — 1)
“ (P +y+ D" + 47y + - - — 4829293y — 693839)
Ca, Cr Byt — 45yt + - — 212992y — 65536)
C6, €10 (' +9° +3° + 2+ 1)°) (P +y2 4~y = 1)
€8, C9, C11 ((y4 + 5y + Ty + 2y + 1)2)(y13 125y ey — 1)
C12
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